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Seating Arrangement for SBI Clerk Pre, IBPS Clerk Pre, LIC Assistant 

and IBPS RRB Exams. 
SA Set No 155 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

In a tech exhibition, seven mobiles of seven different companies viz. Motorola, Sony, HTC, 
Oppo, Micromax, Lenovo and Apple were displayed in a row, facing north such that; 
  

(I) Motorola was immediate right of Apple. 
  

(II) Apple was fourth to the right of HTC. 
  

(III) Oppo was between Sony and Lenovo 
  

(IV) HTC, which was third to the left of Sony, was at one of the ends. 
 
Questions : 
 

1. Which of the following was the correct position of Micromax? 

A. Immediate right of Apple  B. Immediate left of Lenovo  C. Between Lenovo and Apple 
D. Fourth to the right of Oppo E. None of these 
 

2. Which of the following is definitely true? 

A. Apple is between Sony and HTC   B. Motorola is to the immediate left of Micromax 
C. Apple is to the immediate right of Motorola D. Oppo is the fourth to the right of Micromax 
E. None of these 
 

3. Which mobiles are on the immediate either sides of Motorola? 

A. Sony and Oppo B. Oppo and HTC C. HTC and Micromax   D. Sony and Apple E. None of these 
 

4. Which of the following is definitely true? 

A. Oppo is to the immediate left of Sony  B. Lenovo is to the immediate left of HTC 
C. Lenovo is at one of the ends   D. HTC is second to the right of Oppo 
E. None of these 
 

5.  Which of the following mobiles are to the right of Sony? 

A. Motorola, Apple and Oppo  B. Oppo, Lenovo and HTC  C. Micromax, Motorola and Apple 
D. Lenovo, Motorola and Apple E. None of these 



 

 

Correct Answers: 
 

1 2 3 4 5 

D B E A C 
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Common explanation : 
 
Let’s first look at the clues provided. 
  
(I) Motorola was immediate right of Apple. 
(II) Apple was fourth to the right of HTC. 
(III) Oppo was between Sony and Lenovo 
(IV) HTC, which was third to the left of Sony, was at one of the ends. 
  
It is also provided that every mobile was displayed facing north. 
  
Since every mobile is facing the same way and Apple was right of HTC and by clue (IV) HTC was at one of the 
end, we can safely conclude that HTC is at the leftmost end. Because if HTC was at the rightmost end Apple 
couldn’t have been at 4th to the right of HTC. 
 
Therefore, after arranging HTC and Apple, we get; 

 

  
Now, in clue (I), it is given that Motorola was immediate right of Apple. 
  
And in clue (IV), it is mentioned that HTC was third to the left of Sony. 
  
Thus, we get; 

 

  
From clue (III), Oppo was between Sony and Lenovo; since 2 unfilled positions (for Lenovo and Oppo both) are 
not available to the right of Sony, both these mobiles must be to the left of Sony. 
  
By filling these positions and the rightmost empty position with Micromax, our arrangements is complete. 
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Answers: 
 
1.   Following the final seating arrangement, we can say that micromax is being seated fourth to the right 

of OPPO. 
 

Hence, the correct answer is option D. 
 
 

2. Following the final seating arrangement, we can say that Motorola is to the immediate left of 
Micromax. 

 
Hence, the correct answer is option B. 

 
 

3. Following the final seating arrangement, we can observe that mobiles which are on the immediate 
either sides of Motorola, are Apple and Micromax. 

 
Hence, the correct answer is option E. 

 
 

4.   Following the final seating arrangement, we can say that Oppo is to the immediate left of Sony. 
 

Hence, the correct answer is option A. 
 
 

5. Following the final seating arrangement, we can observe that Micromax, Motorola and Apple are to 
right of Sony. 

 
Hence, the correct answer is option C.  
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